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| $f K 4 ouT IN [TOTAL|HDCP | NET
& B 'R R’1T 35 | 37 72 6 66
B I = 38 | 39 77 11 66
3 fu s &— 39 41 80 11 69
4 i AH HRiE 44 38 82 13 69
5 fi NG BB 38 42 80 10 70
B-G B ET 35 37 72
118 $—8Af#H A Kk B =
II— - KT FDES
| $f K 4 ouT IN [TOTAL|HDCP | NET
& B LA & 40 | 39 79 13 66
B KE ZEth 37 | 40 | 77 8 69
3 fi B+ & BE 42 38 80 10 70
4 i HH thH 40 | 4 81 11 70
5 fi Fll FX 39 | 40 | 79 8 71
B-G KE Et 37 40 77
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SMTE11A3A
| $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B Pt &E 40 | 41 81 16 65
#EEBi WmR #— 45 | 42 | 87 | 22 65
3 fi TR B 43 | 40 | 83 15 68
4 i BEA EZ 44 | 44 | 88 19 69
5 {i AT & 4 | 4 85 14 71
B-G Pt &E 0 | # 81
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| $f K 4 ouT | IN |[TOTAL|HDCP| NET
& % BREa 41 39 | 80 | 18 62
B £H €& 41 47 | 88 | 25 63
3 fu EN WaE 42 | 42 | 84 | 20 64
4 i AW B 41 45 | 86 19 67
5 fi ER K Ha 44 | 48 | 92 | 25 67
B-G BREa 41 39 | 80
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